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And this one takes a fourth — Poan buu

OVERVIEW

Our mwn rules that if one claims that the n°%v is entirely his, while the other
claims that he owns half the n°%v (and agrees that his partner owns the other
half), the rule is that the one who claims 2w 77710 receives three fourths of
the n°>v and the one who claims 2w 77°%¥1 receives one fourth of the n°%u. Our
Mmoo explains why (on one hand) the *>w 781 does not receive half (since
he has a 13°»), and (on the other hand) why he receives anything at all since it
1s a case of *R71 7771 X X1 PO0 TX.

nooIn asks:
—Hhy A9 9N YA INT I ITY 1P8NT AN NP 9NN ON)

And if you will say; let the one who claims 5w 7°¥r1 be believed that he

owns half, with a 2%, for he could have claimed “>w 77> -
— 139201 19099 15993 1913 IR (x,n 97 10pY) “NIDN 139VINTI

As the Rn3 states later that we would have utilized this very same 1% to

exempt the one that claims *>w 77°¥17, from taking an oath -
— *0o9ump INT DIUN XY ON

were it not for the concern that he is being deceitful. However, here he
should be believed that 2w 1311 if he swears, for he has the 13°n of 2w 7513.

N1v0IN answers:
— 513991 NY NO¥INY 139197 29791 )2 DNYY 19929 W)

And the 2"2%9 explains that we do not say a %2 in order to extract

" If he would have claimed *>w 7213 he would receive half (with a 7912w), now that he claims *>w 7°¥n he
should also receive half (with a 7312w) since he has a 13°»; he could have (just as easily) claimed *7w 791.

% mooIn brings a proof from the X m later that a mww of *»w 1¥n has a W of 9w 7712, One may argue that
one who claims *?w 17°¥1 has no wn of 5w 1713 for he may be reluctant to claim *>w 7215 (just as a 770
n¥pna has no W of 937 9913 since "2 YR OIR PR). This X3, cited by mooin, proves otherwise. See
‘Thinking it over’ # 1.

? The xm3 there asks that the one who claims *>w %11 should (be believed and) receive his quarter share
without an oath since he has a 131 of claiming *>w 7213. This proves that *>w ¥ has a valid wn of 2w 7913.
* People are reluctant to swear falsely. We are concerned that he is falsely claiming *>w %1 (for he owns
nothing) and the reason he does not claim 2w 7915 (since he is lying anyway) is because he figures that if
he will claim *%w 7915 he will be required to take an oath (which he is reluctant to do, since he will be
swearing falsely); if the law was that *>w 7°%n receives a fourth without a 7y1aw, this swindler would rather
settle for a fourth without a nv1aw, than receiving half with a nvaw. The w» is invalid because of the
concern of 0 ¥np M7y°K. However nooin is asking that we should give him half with an oath, where there
is no concern of 7177, since he will be required to swear. Why does he receive only a fourth?!

> In order to extract money witnesses are required; a 13 is insufficient proof to warrant extraction.
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money. A 12 is only effective to retain money.”

mooIn explains why it is considered (a Wn) R¥177.
—"ntma PIOM NYN YNNIT

For in the second half they both have equal possession.

MooIn anticipates a question on the ruling of the "2 that 11X R? X172 Won0:
— 11399 799 YINYY PNIT (0w 2,39 97 xana xan) “DONAN NPINT NIDM)

And that case in 2°n277 npm 275 where he bent down and whispered to
= -

— AN 2192 9D 1N NODYYN RIVY 1179191 NI NO»T NIVY PPN
‘This indeed is a forged "vw, however I had a valid "vw and I lost it’ -

— NIA NOTYN RIVY AN 292 INT NN NINIY 129 N2
And 127 believed the M to extract payment from the Mm%, with the 1%
that the m“» could have said, ‘this is a valid auww’. It is apparent from the
ruling of 1727 that we do say %112 13°n. This contradicts the view of the 0"2".

moon answers and differentiates between two types of 1n:
= NRYL 1)”N ONn
There by the X5>1 X70w the reason the M%7 is believed even XX is -
— AN NN MM NINY NN NN NOY P9 PNV MN 1DART DIVUN
because, for even if the m>» would have remained silent, provided that
he would not have admitted that it was a 1% 0w, he would have been

believed and would have collected his debt, even though the m% claimed 717 -
— OV 01999 H99) NN NIHND S

Because the signatures appeared valid to all those present. The argument of
the Mm% would have been dismissed since all those present agreed that the signatures on
the 70w are valid (even though they were forged). This 17 is referred to as a >¥2 °X7 13°»
PN (not a YV "¥a °XRT ). By a pnw °ya °R7 wn all agree that we say XOXIT7 .
However in our mIwn it is a (9w 7910) T¥v w2 X7 W, there we do not say Rx17> 1301,

® When a 121 is supported by a 1mm npin, then it can allow the money to remain where it is.

7 One half certainly belongs to the one who is claiming *>w 7913, for the *>w 7°%ri is ceding him this half; the
disagreement is in the second half, where they both have an equal claim and possession; each one possesses
one fourth. If we were to grant the entire second half to the *>w m¥n, we would be extracting one fourth
from the possession of the 5w 11713, This is a X*¥177 13°n, which is not effective. See ‘Thinking it over’ # 2.

¥ The case there was concerning a loan, where the 7% presented a 7ow and the m> claimed that it was a
forged uw. The m>n at that point whispered to 7127 the following.

? A 1y 2 °X7 W1 is not sufficiently conclusive. We can always say that he did not think of the other 7wv
or was reluctant to use it for some reason. However a p°nw °va °X7 131 is obvious, there is no way we can
assume that he does not realize that he could remain silent and win his case, or that he is reluctant to remain
silent. Therefore it is sufficiently conclusive even to be X>X1.
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mooIn responds to an anticipated difficulty:
— My NY 9999 192987 199 79X 09095 2

And 52 29 maintains there that it is not even a % -
— Papy X0 PRIDY INN 0 XINY NIYNRT NIYOY 119

For since the first claim of the m%» which he claimed when he presented

this "vw was false (it was indeed a 7™ 7vWw), therefore there can be no » to
support his claim that 7281 *7 77 X5 ROV -
— PRIV NIV 1) HNINR NI NIHYNI INMYLVY NI NIN M MY 1PN)

For we cannot use a °» unless the original claim is true based on a 1%

that he could have presented a different claim. However here his initial claim

is false -
— NP NTIYA 119 PIINNY 1PN 1191 19N 799

And therefore it is not a 13" even to retain, as for instance in the first
case there.

mooin asks a different question:
—INTY Y7 NININ POD PNT NI 99NN ON)

And if you will say; let us claim that a questionable owner cannot

extract (even a partial amount) from one who is a proven owner. mson
explains why this is a case of *X71 77" XX PH0 —
— 0199 129 W ON PO SHY SN MMIIND I8N SN Y W SHY 191 MMINDT

For the one who claims “>@ 77915 certainly owns half of the n°>v, and the
one who claims “» mv3n, it is doubtful whether he owns anything of the

' nov 27 argues with 7127 and maintains that the m%» cannot collect his loan from the m>. One may
seemingly assume (initially) that 727 and Ao 27 are arguing whether 1R X°¥172 1 or not. Mo
disabuses us from this notion.

1 70 17 maintains that not only is this not a superior 1 (a PN °¥2 X7 1 which is effective even
X*¥1777), but it is not even as good as a regular 131 and it will not be effective even p>1mi>.

12 Others amend this to 'S0 Xm'; this was his original claim (as is stated in 2"2); ‘here is the "vw’ that
substantiates my claim of the loan (or the purchase of the property).

" The 7uwn ¥2 initiated his claim with a 5> 7uw. Since the basis of his claim is a lie, the subsequent 137
cannot empower him that his later claim should be validated [even] with a 131 (especially if we view 13°»
from the perspective that it shows that the 77 9v2 is an honest man; in this case we see that he is not
honest at all, for he presented a 7> 0W).

'* There is an identical nponn there between 727 and A0 21 regarding a property whose ownership was
being challenged by a 7v7vn. The 7v7vn claimed that the property belongs to him and that the P 1 is there
illegally. The P11 presented a 7w which stated that the P11n purchased this property from the “y7yn. The
qv7vn responded that it was a 71 70w for he never sold him this property. The 111 told 7127 that X0w PR
7R 77 M RO RIVW 3R XIT 891, There too 721 ruled that the p>1nn retains the property for he has a wn,
while 701 21 claims that the "¥7¥n receives the property, since the P11 does not have a valid 70w. In that
case it is a p 177 131 and nevertheless according to fo” 27 it is not an effective 1 n. This proves that the
nponn between 7017 271 1727 does not concern the issue of 1R RS X779 1300,
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noo, so the rule of *X7 >1°n XXM P90 PX should take effect and the po0 should receive
nothing.

MooIn now shows the source of the rule that X7 >7°n XX OO X!
— N30 50933 P9NY INAYW 029 *H90 (x,ny 91 mmany ¥9IND P93 F19%90INRTS

As the X723 states in P97 P95 a o0 and a brother-in-law who came to
divide the estate of the ‘grandfather’ -
=793 NDY 19 51599 27197 X2 HIN 99N D2 NADO D 5N NIN NINM 92 NIN 9N 790
The p2o claims I am (possibly) the son of (721%7) the deceased and I own
half of the estate, and the 22° claims you are (possibly) my son and you
receive nothing; the rule is -

—INTY ST NI POD PN oo paoy Tnn 035 1Y N
That the 23° is a 587 and the P20 is merely a po®, so a Po° cannot be

N3 from a SR7Y and the entire estate belongs to the 02> (Wnw). Our case of *?2w 7213
and "% 7°¥n seems exactly as the case there by a 021 po0. The question is that we should
also rule here that X7 7 X% P90 PR and only the *2w 7912 (the °X71) should receive the
entire n°%v, while the *>w 2 (the p50) should receive nothing.

n90IN answers:
- P9y N $P NID YV 133 NINY D3 BNNT 1Y Y

And one can say; that there the 22° who is the son of the 820 is certainly

an heir,
— 1999 POVN POV NI NY)

15 The case there is as follows; 2py° had two sons, 12187 and Ny»w, where 2181 died (childless) while 2py»
was alive. 1wnw was 02°n the wife of 12181 within three months of s'12187 death. The 772 had a child Tin
seven months after her 012° to 1'v»w. We are not certain whether 71117 is the son of 11w»w (with a seven month
pregnancy) or the son of j21%7 (with a full term pregnancy). 71 is either s'Ww»w son or s'Y»w nephew.
When 2py° dies there is a dispute between 1'wnw and 71n concerning the inheritance of s"apy° estate. YW
claims that 711 is (possibly) his son and therefore the entire inheritance belongs to 17w»® (and nothing for
7). While 7111 claims that he is (possibly) the son of 721%7, and as the son of 121X1 he is entitled to half the
inheritance (as 72187 would be entitled to).

18 This refers to 71 who is a o0 whether he is the son of 11w or 121x".

7 This refers to MY who is a 02° to 12181 (and was 02*» his wife).

' This refers to 2py> who is the grandfather of 1.

' The o2 is certainly an heir and owns part of the estate, for even if Tir is the son of 121%7, nevertheless
Ny receives half.

1t is questionable whether Tim is an heir at all; if he is sTWw»w son he is not an heir and owns nothing of
the estate.

I An heir inherits the entire estate; if there are two heirs or more each inherits the entire estate. Inevitably
they will have to divide but inherently each heir inherits everything. Therefore the 02, who is certainly an
heir, owns the entire estate; if the P50 would have been an heir he too would inherit the entire estate, but
since he is merely a P50 he cannot be X>¥ from the *X71. However, here the *>w 17713 is only a *X7) in half
the n*9u; that gives him no rights or privileges in the second half which they both share equally.
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and therefore the % cannot extract money from the "X71 on the basis of a
»Do -

$23WN PINY 1Y HIPPY 18N IRT NINY NI NI1D PPN XN HaN
However here by a n°%v there is no logic to say that the ownership of the

"W 11715 in half the n°%v should support his ownership in the second half of
the n>ov.

SUMMARY

The 1n of *5w 7915 cannot allow the 2w 72 to collect half since we do not
say a X°X1? W (except by a P nw *va °R7 ). The 2w 7915 is a °X7Y only in
half, and therefore the 2w 17°¥1 is not X717 X°XM as opposed to the 02
who 1s a °X7 and the 250 cannot be XX from him. According to 701 27 a
131 1s valid only when the initial claim was not a lie.

THINKING IT OVER
1. Why indeed is there a wn of *>w 7915 by a mwv of *»w 7°¥m,”> however
there is no 13°» of 2371 1913 by a nxpna 71N>

2. moon writes that if we would award half to the *>w 7% it would be a °n
XX, since [T W3 AT prmn 1wn venat.®* This seemingly contradicts that
which moon previously stated™ that ¥ *XT2 7219 w2 TR 3 199K W7
X7 717777 X7 078NT *XNT >770 1IR7T (indicating that we consider that each one is
in possession of half the entire n5v). How can we resolve this
contradiction?*

3. mooin asks that the v 7°¥n should be considered a >XT1 >7°1 X°X12 PO as
in the case of 02" Po0. Seemingly however the two cases are not similar. In
our mwn the *2w 17710 is a *X7 only because of the admission of the “Hw 73n,
and in addition the *7w 73°¥17 is a prmin, while there the 027 is a *X7) without the
admission of the poo, and the pod is also not a P, How can mooin
compare the two cases?!*’

22 See footnote # 2.

2 See a"nx # 283 and onwards.
2* See footnote # 7.

2 oo ',

% See > Mk >

2T See 20 MR 7",
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